

$$n\varepsilon - vn^c - a = 0$$

$$r\rho^c - r^3sp + r_s = p$$

$$n^c = t \quad \left\{ \begin{array}{l} t^c - vt - a + n \rightarrow n^c = t \rightarrow n = \sqrt{t} \rightarrow n = \frac{\sqrt{v + \sqrt{4a}}}{c} \\ \hookrightarrow t = \frac{v \pm \sqrt{4a}}{r} \end{array} \right.$$

$$p = \sqrt{\frac{v + \sqrt{4a}}{r}} \times \sqrt{\frac{v + \sqrt{4a}}{c}} \rightarrow \sqrt{\frac{v + \sqrt{4a}}{\varepsilon}}$$

$$s = 0$$

$$r^3sp, r_s = 0 \rightarrow r\rho^c = r \left(\frac{v + \sqrt{4a}}{\varepsilon} \right)^c$$

$$n^c - an + b = 0$$

$$\left[\frac{ab}{\varepsilon} \right] = c$$

-4

$$(ran^c + an - 4 = 0$$

$$\left\{ \begin{array}{l} \rightarrow n_1 + 0, a : n_c + 0, a \rightarrow s = n_1 + n_c + 1 \rightarrow s = \frac{1}{c} \\ \rightarrow n_1, n_c \rightarrow s = n_1 + n_c = -\frac{1}{c} \end{array} \right\} a = 1$$

$$n_1 \times n_c \rightarrow -4$$

$$(n_1 + 0, a)(n_c + 0, a) = \cancel{n_1 n_c} + 0, a n_1 + 0, a n_c + 0, a^2 = -4$$

$$\frac{b}{c} = -4 \rightarrow b = -4 \rightarrow \left[\frac{ab}{\varepsilon} \right] = \left[\frac{-4}{\varepsilon} \right] = [-1, 8] = -9$$

$$an^c - an - b = 0$$

$$\beta - \alpha = p$$

-V

$$\varepsilon \beta^c + r_a a^c - r, \beta = 1v \rightarrow s = \frac{a}{a} = 1 \quad p = \frac{-b}{a}$$

$$r\beta^c + a^c - \beta = \frac{1v}{c}$$

$$\hookrightarrow r\beta^c + 1 + \beta^c - r\beta - \beta = \frac{1v}{c}$$

$$\rightarrow r\beta^c - r\beta + 1 = \frac{1v}{c} \rightarrow r\beta^c - r\beta + \frac{r}{r} = 0$$

$$\hookrightarrow 4 \cdot \beta^c - 4 \cdot \beta + 1 = 0$$

← ریشه های این معادله همان ریشه های معادله اصلی است (تبدیل)

$$\left(\begin{array}{l} \rightarrow p = p' \rightarrow p' = \frac{1}{c} \end{array} \right) \left\{ \begin{array}{l} (\alpha - \beta)^c = (\alpha + \beta)^c - \frac{\varepsilon}{c} \\ \hookrightarrow 1 - \frac{\varepsilon}{c} = \frac{\varepsilon}{2} \rightarrow (\alpha - \beta)^c = \frac{\varepsilon}{2} \end{array} \right.$$

$$\hookrightarrow \alpha - \beta = \frac{\varepsilon}{\sqrt{2}} = \left(\frac{r\sqrt{2}}{a} \right)$$

$$n^r - (a+1)n + a = 0 \quad \alpha, \alpha+1 \rightarrow \text{جواب}$$

$$n^r - (2a+1)n + b = 0 \quad \beta, \beta+1 \rightarrow \text{جواب}$$

$$\begin{cases} \alpha + \alpha + 1 = 2\alpha + 1 = a+1 \rightarrow \alpha = \frac{a}{2} \\ \alpha(\alpha+1) = a \end{cases} \quad a=2 \rightarrow P_1 = 2$$

$$\alpha^r + 1 = 2\alpha + 1 \rightarrow \alpha^r - 2\alpha + 1 = 0 \quad (\alpha-1)^r \rightarrow \alpha=1$$

$$\beta + \beta + 1 = 2\beta + 1 = 3 \rightarrow \beta = 1 \rightarrow P_c = 1$$

$$P_c - P_1 = 1 - 2 = -1$$

المحور الثاني

$$n^r + n - 1 - m^r = 0$$

$$\min(\alpha^r + \beta^r) = ?$$

$$n = \frac{-1 + \sqrt{1 + 4(1+m^r)}}{2} = \frac{-1 + \sqrt{5 + 4m^r}}{2}$$

$$\alpha = \frac{-1 + \sqrt{5 + 4m^r}}{2} \quad \beta = \frac{-1 - \sqrt{5 + 4m^r}}{2}$$

$$\alpha^r + \beta^r = \frac{(-1)^r + (5 + 4m^r) + (-1)^r + (5 + 4m^r)}{2^r} = 1 + m^r$$

$$\text{حين } m \geq 0 \rightarrow (h^r + k^r)_{\min} = 1$$

$$A(x, y) \quad B(-a, y) \quad y_{\text{محور}} = 1 \quad n_0 = \alpha, \beta$$

$$\alpha^r + \beta^r = a \quad y_0 = 1$$

$$n_3 = -1 \quad y = a(n+1)^r + 1$$

$$y_3 = 1 \quad y = a n^r + 2an + a + 1$$

$$\alpha + \beta = -\frac{2a}{a} \quad \frac{\alpha^r}{a} + \frac{\beta^r}{a} + 2\alpha\beta = 1 \rightarrow 2\alpha\beta = -1 \rightarrow \alpha\beta = -\frac{1}{2}$$

$$\frac{a+1}{a} = \frac{1}{r} \rightarrow a = -\frac{r}{r-1} \quad \text{بالتعويض} \rightarrow a+1 = -\frac{r}{r-1} + \frac{r}{r-1} = \frac{1}{r-1}$$